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QUESTION 1

Equilateral Triangle 

A. 2 sides have equal length, and whose opposing sides have equal angles 

B. All 3 angles are less than 90 degrees 

C. All 3 sides are equal, the angles of all 3 sides are 60 degrees each 

D. A triangle all 3 sides and all 3 angles are unequal 

Correct Answer: C 

 

QUESTION 2

What region of brain influences body temp, metabolism etc.? 

A. Energy 

B. Negative charge 

C. Turbulent air 

D. Hypothalamus 

Correct Answer: D 

 

QUESTION 3

Tachometer 

A. Lift equals Weight Thrust equals Drag 

B. Batter Power 

C. Is cleared to taxi 

D. Engine RPMS 

Correct Answer: D 

 

QUESTION 4

The type of joint that attaches the arm to the shoulder blade is the 

A. Ball and socket 

B. Scurvy 
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C. Mercury 

D. 3 hours 

Correct Answer: A 

 

QUESTION 5

Heading Indicator (aka directional gyro) 

A. Basically compass, not affected by flight. 

B. Straight and Level Turns Climbs Descents 

C. If aileron and rudder movements are coordinated during turn, ball remains centered. 

D. Sets gyroscopic heading indicator. 30 degrees appears as 3. 

Correct Answer: A 
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